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Reasoning Mega Quiz for RRB NTPC 

 

Directions (1-3): In the following question, select the related words/letters /numbers from the 

given alternatives. 

निम्ननिनित प्रश्न में, दिए गए निकल्पों में स ेसम्बनंित शब्ि/िर्ण/सखं्या का चयि करें 

 

Q1. Banana : Fruit : : Ginger : ? 

केिा : फि : : अिरक : ? 

(a) Root/ जड़ 

(b) Fruit/ फि 

(c) Flower/ फूि 

(d) Stem/ तिा 

 

Q2. 10001 : 10101 :: 101 : ? 

(a) 11   

(b) 201 

(c) 100   

(d) 121 

 

Q3. FHK : DFI :: OQT : ? 

(a) NPS   

(b) PRT 

(c) MOR   

(d) QSV 

 

Q4. Select the odd one from the given alternatives. 

दिए गए निकल्पों में स ेनिषम शब्ि का चयि करें 

(a) CEF   

(b) LNO 

(c) RTU   

(d) GIK 

 

Q5. Select the odd one from the given alternatives. 

दिए गए निकल्पों में स ेनिषम शब्ि का चयि करें 

(a) Trousers / पतिूि  

(b) Shirt/शर्ण 

(c) Pants/ पैंर्  

(d) Shorts/ शॉर्टसण 
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Q6. Select the odd one from the given alternatives. 

दिए गए निकल्पों में स ेनिषम शब्ि का चयि करें 

(a) 145    

(b) 463 

(c) 581   

(d) 651 

 

Q7. From the given words, select the word which cannot be formed using the letters of the given 

word. 

दिए गए शब्िों में स,े उस शब्ि का चयि करें नजस ेदिए गए शब्ि के अक्षरों का उपयोग करके िहीं बिाया जा सकता ह।ै 

SMOTHERS 

(a) THOSE    

(b) METRO 

(c) STORE    

(d) TEARS 

 

Q8.  If FRISKED is coded as HTKUMGF, then how will SUN be coded as? 

यदि FRISKED को HTKUMGF के रूप में नििा जाता है, तो उसी कूर् में SUN दकस प्रकार नििा जाएगा? 

(a) UWP   

(b) RGZ 

(c) KMJ  

(d) ZBF 

 

Q9. In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '÷' and '÷' 

represents '-'. What is the answer to the following question? 

दकसी निनित कूर् भाषा में, '+' 'x' का, ‘-‘ ‘+’ का, ‘x’ ‘÷’ का और ‘÷’ ‘-‘ का प्रनतनिनित्ि करता ह,ै तो निम्ननिनित प्रश्न का 

उत्तर क्या होगा? 

80 + 2 ÷ 25 + 5 - 10 = ? 

(a) 35   

(b) 98 

(c) 36   

(d) 45 

 

Q10. Arrange the given words in the sequence in which they 

occur in the dictionary. 

दिए गए शब्िों को शब्िाििी के अिसुार व्यिनथित कीनजय.े 

1. Clocklipe 

2. Cloddier 

3. Clodpates 

4. Clodpolls 

5. Clockwise 

(a) 15234    

(b) 23154 

(c) 24315   

(d) 51234 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-books/2550/RRB-NTPC-2019-COMPLETE-KIT-Online-Test-Series-Hindi-Medium


3 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 

Directions (11-13): निम्ननिनित प्रश्नों में, दिए गए निकल्पों में स ेसबंनंित शब्ि / सखं्या / अक्षर को चनुिए। 

 
Q11. BYN : FUR : : AXL : ? 
(a) ETP  
(b) GTQ 
(c) FSQ  
(d) ESP 
 
Q12. Tree : Dendrology : : ? : ? 

िकृ्ष: िकृ्षनिज्ञाि::? :? 

(a) Entomology : Insects/ कीर्निज्ञाि: कीड़ े

(b) Ants : Myrmecology/ चींटर्यां: मायक्रोमोिॉजी 

(c) Odontology : Teeth/ िन्त निज्ञाि: िांत 

(d) Pharmacology : Drugs/ औषनि निज्ञाि: औषनि 

 
Q13. Select the related word/letters/number from the given alternatives. 

दिए गए निकल्पों में स ेसबंनंित शब्ि / अक्षर / सखं्या का चिुाि करें 

1728 : 12 :: 21952 : ? 
(a) 27  
(b) 18 
(c) 28  
(d) 24 
 
Q14. Find out the odd word/letters/number/number pair from the given alternatives  

दिए गए निकल्पों में स ेनिषम शब्ि / अक्षर / सखं्या / सखं्या यगु्म ज्ञात कीनजए 

(a) Bharatnatyam/ भरतिाट्यम 

(b) Sattriya/ सनत्िया 

(c) Oyilattam/ओनयिाट्टम 

(d) Bhangra/ भांगड़ा 

 
Q15. Find out the odd word/letters/number/number pair from 
the given alternatives  

दिए गए निकल्पों में स ेनिषम शब्ि / अक्षर / सखं्या / सखं्या यगु्म ज्ञात कीनजए 

(a) Nonagon/िोिागोि 

(b) Hexagon/हके्सागोि 

(c) Altitude/ शीषण-िंब 

(d) Triangle/निभुज 

 
Q16. Find out the odd word/letters/number/number pair from 
the given alternatives  

दिए गए निकल्पों में स ेनिषम शब्ि / अक्षर / सखं्या / सखं्या यगु्म ज्ञात कीनजए 

(a) 1/7  
(b) 1/4 
(c) 1/5  
(d) 1/10 
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Directions (17-19): A series is given, with one word missing. Choose the correct alternative from 

the given ones that will complete the series. 

एक श्ृिंिा िी गई है, नजसमें एक शब्ि िपु्त ह।ै दिए गए निकल्पों में स ेसही निकल्प का चिुाि करें जो श्ृिंिा को परूा करेगा 

 

Q17. mob,      adda,      mango,      circle,      ? 

(a) Darjeeling  

(b) Meerut 

(c) Gangtok  

(d) Varanasi 

 

Q18. pQrST,      wXyZA,      dEfGH,      kLmNO,      ? 

(a) rStUV  

(b) RsTuV 

(c) RsTuW  

(d) sTuVW 

 

Q19. 2,      10 ,30 ,68,      ? 

(a) 154 

(b) 95 

(c) 110 

(d) 130 

 

Q20. Amit is 7 ranks ahead of Gopal in a class of 36 students. If Gopal's rank is ninth from the last, 

then what is Amits's rank from the start?  

36 छािों की कक्षा में अनमत, गोपाि स े7 रैंक आग ेह।ै यदि गोपाि की रैंक अनंतम स ेिौिें थिाि पर है, तो शरुू स ेही अनमत 

की रैंक दकतिी ह?ै 

(a) 22th 

(b) 19th 

(c) 20th 

(d) 21th 

 

Q21. In the following question, which one set of letters when 

sequentially placed at the gaps in the given letter series shall 

complete it? 

निम्ननिनित प्रश्न में, दिए गए पि श्ृंििा में अतंराि पर अिकु्रनमक रूप स ेरि ेजाि े

पर अक्षरों का कौि सा सरे् इस ेपरूा करेगा? 

efg _ _ eff _ ghhe _ eff _ gggh _ h 

(a) eghhfe 

(b) ghhhh 

(c) hegefh 

(d) hgefhe  
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Directions (22-24): A series is given, with one word missing. Choose the correct alternative from 
the given ones that will complete the series. 

एक श्िंिा िी गई ह ैनजसमें एक र्मण अज्ञात हैं आपको दिए गए निकल्पों में स ेउस निकल्प का चयि करिा ह ैजो इस श्िंिा 

को परूा करेगा? 
 
Q22. 0,      3,      8,      ? ,      24,      35 
(a) 15  
(b) 16 
(c) 18  
(d) 9 
 
Q23. A,      C,      F,      H,      K,      ? 
(a) M  
(b) N 
(c) L  
(d) O 
 
Q24. 1,      3,      6,      10,      15,      ? 
(a) 20  
(b) 21 
(c) 22  
(d) 24 
 
Q25. If 6 @ 4 @ 7 = 101 and 2 @ 5 @ 11 = 150, then what is the value of A in A @ 8 @ 9 = 289? 

यदि 6 @ 4 @ 7 = 101 और 2 @ 5 @ 11 = 150, तो A @ 8 @ 9 = 289 में A का माि ज्ञात करें 
(a) 5   
(b) 8  
(c) 12  
(d) 17  
 
Q26. If a mirror is placed on the line MN, then which of the answer figures is the fight image of the 
given figure? 

यदि रेिा MN पर एक िपणर् रिा जाए, तो निम्ननिनित में स ेकौि सा उत्तर नचि प्रन्न्चि दक सही छनि होगी? 

 

(a)   

(b)   

(c)   

(d)   
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Q27. From the given words, select the word which cannot be formed using the letters of the given 

word. 

दिए गए शब्िों से, उस शब्ि का चयि करें नजस ेदिए गए शब्ि के अक्षरों का उपयोग करके िहीं बिाया जा सकता है 

ORDINALS 

(a) DINAR  

(b) ADORN  

(c) SALON  

(d) IDEAL 

 

Q28. If "A" means "subtraction", "B" means "division", "C" means "addition" and "D" means 

"multiplication", then 

यदि “A” का अिण “घर्ा” है, “B” का अिण “भाग” है, “C” का अिण “जमा” ह ैऔर “D” का अिण “गरु्ा” है, तो  

330 B 6 A 32 C 45 D 12 = ? 

(a) 525 

(b) 547 

(c) 582 

(d) 563 

 

Q29. Raman is Sunaina's father and Sunaina is Vidur's wife. Saksham is the father of Vidur's 

father. How is Saksham related to Sunaina? 

रमि सिुिैा के नपता हैं और सिुिैा नििरु की पत्नी हैं। सक्षम नििरु के नपता के नपता ह।ै सक्षम सिुिैा स ेदकस प्रकार सम्बनंित है? 

(a) Father-in-law/फािर-इि-िॉ 

(b) Grandfather-in-law/ग्रैंडफािर-इि-िॉ 

(c) Son/बेर्ा 

(d) Husband/पनत 

 

Q30. How many quadrilaterals are there in the given figure?  

दिए गए आकंड़ ेमें दकति ेचतभुुणज हैं? 

  
(a) 13  

(b) 15 

(c) 17  

(d) 19 
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